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They were processed with gall-nuts — JX°DNRT2

OVERVIEW

The X3 explained that the 707 XY could not be forged for it was
treated with gall-nuts.'" moon explains that there are other methods to
prevent forgery.

— 911NY 9199 NYION NY2T ¥RYUN
It seems that without the X%°5X process the 20w can be forged.

nooIN asks:
— NN NYT 5Y ﬂ’ﬂb?‘.‘! 122599 X TN TINN ON)

And if you will say; and how do we write with our parchment, which

was not processed with RX5N -
— 01997 1193 N9INVT 119192 91D *KINDYT M) 19295 N9 990 (MIVY)

(notes) and n'"v, 3°2°5n and NI, since X297 is invalid by all these as is
evident in many places!

MDDIN answers:
— DNAYY DINOY TOYD 1NYY ‘PO TIIYT BN 19229 N

And the n''% answers that our processing the parchment with 799 is the
equivalent of their processing with 2>3py —

mooIn offers two proofs that 7°0 is the equivalent of 0°¥2¥: firstly -
— 921INY P19 PN NHY DAY NNT

For the writing on our parchment cannot be forged.
— J¥2ON N9T NN JONT RN MNP *N999 990 232 (3,85 mnm N3 NDIPNAT TN

And furthermore in 7729 Y2277 279 regarding a n''®, the X3 states, ‘here

there was J3°9X, and here there was no 35K’ -
$YY TP 1391 JNIAN NDTA NN 990D PaMaY 9N

! These are abnormal growths found (mainly) on oak trees and are (also) used for making ink.

% Xxn9*7 is a parchment that did not go through the X¥’5x process.

3 See the X, 79°n mwn that X097 is 9109 for a 7273, The XM there (on X,v°) derives it from a w"1 from
7°n7 (indicating that it is 9109 by all wmp »90).

* 0 is lime or plaster.

> It appears that the words 0°¥5y and X¥°0x are used interchangeably.

% The x7x there reconciles the two opinions whether one can sew up a n"o where three lines of writing
were ripped (if it was 7¥°5X), or not (where it was not jX5X).
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It is apparent that we write a n''® without jx°28, which must mean the
way we process it with 70.

SUMMARY
Processing with X¥°5X or 7°0 prevents forgery, and is W72 790 7Wwdn.

THINKING IT OVER

The n"7 states that 7°0 prevents forgery just as XX'9X does. However how
does that explain why we are permitted to write W72 190 without X¥°5X?
Seemingly the reason for X¥°5X by W 190 is not out of concern of forgery,
but rather a 17 in writing w72 "o’

" See n"n1 and 7"nx # 140.
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